CTIA Lectine &)

/9 Ky, 24 09,101D

P Iy

' %{(/L/u)/m)
o<

U

v

Coﬂ,blaﬁz, //Ul/i’f/zjx//lg 45/4/)

%wnwzéfl‘zf 45U

{%L)x/z%ﬂ//z-%% 4)



A o, 07,09, 1p10 .
STl Lyitony @

/v b\ Joro g 0O
5( ) 718} p o
> 0 f)(og7//50/ oo

DR =PoN s X BT
=3 1, (1), (23),/18),[1r3} /31 7

Lt 8 by o sUbspd of G,

Tle Subgyoup a/éwﬂzéﬁ/ ’t(% g /s
1%& 6uz’>3yvuf //éé’ ‘S'poAM

4 423,
(b)) Zf ¥ rs »’50571»7//1 q/é'w K25
Hpr. K24
In fmﬁ/c’skf Y s D s matlest fuéﬁa/m/)o
074 G LOVL’éLaAH/L» :

/Vp%&-f 7[‘%04‘//}(/ D/‘ﬁﬁb’ ﬁ/ﬂd{lzbzé&/\f ‘S5 JL\/VLL‘/M
£ ons 1/‘/7512& %M&//Zfﬂéfmo’ u’fo ?Lpé
pnot  [em, 72;6 /S //wm'VL/JL/frb)@@r%q f/

bt Gl m gy Lyl 428 g
725/ prder g /5 ﬂf/a”//nﬁ./l/pfa’z (5270 51)4/\.
et

17497 94 &

A-times




. /7)£4w« £7.07 1040
> GTLH fectitie- (0)
5@3/60/\72/[?6 ”7[ 2 d/zéhu%//
PA Z

rd
{0, (1n3),[132)3 \\ ’

\ Lo, {1,)5, 5,003)3 4
5/// '

{1 /
//L zgsvf %‘% ’

Zow=10,1,2,34,5¢, 7 477
TGP T+ G4 9¢5¢ 92969 = 1> ovdersT )=/

BHI+7+ 9+ €= svdey/q] = 5
$FHI ISP Pr 234+ T 2 e ()= $p
betbtitl+fp =0
. Wzﬁz//z, ) =
KNy 5) 2 1
Y9 +4 1)+ Y sp L )14 ]
3¥3T3 ¥It3¥94 34 343430 ”;ﬁ?lf/f
2+ ] 42424+ =D Ng,/z//ﬁ"/h}/z

(4] 2] ) +1¢ J+)4) = p
L) =
/D)5 )



K P, P7 29,201 0

CTLH ety (¥)
5&4?«91/’}05 o Z 2 Goinonldy
1842,9495 ¢3¢/ /o
f 0,1#,4,,77 \ =3
\ /Z'D. 51 9
T /

7;.0/ a’uéa«w/{) Wﬁ&/ ﬁ\’7 31
f0 4, 343, 3+4743, | 34343434343+ 343+ 3]
=10 3,6,4,1,5,¢, 1% 27
18,1,5,495L.3%,91- &f,p

?%i,ap:ﬁ%é/u 2ot G 4o A JOP aud Jed ?éé.
[6) Lt 4t 2, snd csame. oder o)k
Then D a’uéW iyl 4y 4 /s
{/J?)?i : -‘JﬁkJ?ijZ
&ard f/,?,ﬁ}’.-., 71’//5 WM/G,)
[8) Wssime oxderla)z o T %beéaw/o
Wa&l \J/ 4 /5
‘fm)@/f‘f??/)/, 4,4 ?:i 1




groep A G
Lopin /-
i
T Zj
&//&M—
zléj
/ A/ongM‘
G e
4
% 0’024/‘.91/
/15 A

Yoo




